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LINGUISTICS
PAPER - 11

This paper contains fifty (50) objective tvpe questions of two (2) marks cach. All questions
are compulsory.

The usual term for the relationship which exists belween languages that are members of the
same language family is :

(1) Typological Relationship (2)  Arcal Relationship

(3)  Genetic Relationship (4) Classical Relationship

Assertion (A) : A basic term in linguistics for the set of substitutional relationships a
linguistic unit has with other units in a specific context is called paradigmatic.

Reason (R) : Paradigmatic relations can be established at all levels of analvsis.
Caode :

(1)  Both (A) and (R) are true. (2)  (A) is true, but (R) is false.

(3) (A is false, but (R) is true. (4)  Both (A) and (R) are false,

The primitive elements in a grammar, required for the analysis of linguistic data, e.g. NP, VP,
[+ grave], [+ abstract] arc called :

(1) Substantive universals (2)  Formal universals

(3)  Statistical universals (4)  Absolute universals

A relation between two specech sounds such that replacing one by the other makes a difference
in the meaning of a word is called :

(1)  Constative (2) Connectiontsm  (3)  Calque (4)  Contrast

[he property that language can communicate information about something far away in
lime and space is called :

(1)  Arbitrariness (2)  Displacement
(3)  Interchangeability (4)  Double Articulation
s | [ AD 2 Paperh
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FEyT: =9 vy ° o= (50) FE-Tamed ™ WA B 1 TAE T H 2l (2) % B 1 Wt W rfard €

1. Wk B 99 9REN st i & S % 99y o et w0 9l T2 w1 &hE] S ¢

(1) WEd Ha (2) & EsY
(3) AT "ey (4)  FANEHR HaH

0. AfUmUT (A): TR WIS TR T A AR TR % Wy U fafene geof § wferemrers
el =h TH=a gf HTWaeH | gga 2 Jrel ol 98 el f9uees 69 2 |

Tqh (R) : SOl [a9aeh el = Egeluu & §4 TR 92 €niud fhar S |kl g |
&k

(1)  (A) IR (R) a1 Hel § | (2) (A) ¥l &, W (R) T4 § |

(3) (A) 7o T, T (R) &I 2| (4)  (A) R (R) 2 Tord

3. T 34'%5:" AT NI, VD, [+ grave], [+ abstract] o ooy %?1 aAuferd fordl =R o BRI
dcdl o] el STl %r :

(1) wifee "Edm (2)  THUEHE FrE Y
(3) wWiiE®HE 9Egm (4)  gUIEqY "EYM

4, T ATH-TEAl & G HaY TG UH ok 51 T T Ao Rt veg & o1 o TR e AT g1 3E Hay
ﬁ E‘EQ T[] %—

(1) #F=fed (Conslative) (2) HASHAR
(3) Hew (Calque) (4) =afaEw
5. W8T SR 9% 707 [ST9eR H1EA H A% G5l SVIETd i (REl ard o o U SRR "EiNd T "l T,
FHEA T :
(1) (T (2)  ToreemA
(3) ATl (4) Tgdtas S=mo

s [N :
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Animal communication, unlike human language is :
(1) Discrete and symbolic (2)  Anomalous and symbolic

(3)  Discrete and non-symbolic (4)  Anomalous and non-symbolic

In a multilingual sctting, if one language becomes increasingly dominant over the other
languages, taking over more and more of the domains in which these other languages were
once used, then 1t 1s called

(1) Language shift (2)  Non-standard

(3) Language change (4) Diglossia

The question, "How the mentally represented grammar is employed m the production and
comprehension of speech 77 is addressed by :

(1) the information scientist (2)  the psvcholinguist

(3)  the neurolinguist (4) the grammarian

The argument that the child’s linguistic experience is nof sufficien{ to justify the adult grammar
has come to be known as :

(1) The regularity argument (2)  The garden path argument
(3)  The LI argument (4)  The poeerty of stinndns argument

Assertion (A) : A compound word consists of two words,

Reason (R) : I'here is a theoretical limit to the lengths of compounds because the process
of forming compounds cannot [eed itsell ad mfinilinn and cannot be subject
to further compounding.

Code :
(1)  Both {A) and (R) arc truc. (2)  (A)1s true, but (R) is falsc.
(3)  (A) is [alse, but (R) is true, (4)  Both (A) and (R) are [alse.

Production of speech that relies on the movement of air oulwards from the lungs is called :
(1)  Egressive non-pulmonic air stream mechanism

(2)  Lgressive pulmonic air stream mechanism

(3)  Egressive glottalic air stream mechanism

(4) Ingressive velaric air stream mechanism

A general lerm in the classification of speech sounds which corresponds to [rictionless
continuants 1s :

(1)  Approximant 2)  Glide (3)  Liguid (4)  Vowels

(
H‘ ‘HH 4 Paper-II
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TS ot AT = foada gypsti o Sf=r Eem g @

(1) faf== IR gdieheae (2) oAfaf=a IR gdihrs
(3) Tofees IR TR-Udlhe® 4y effafesa iR R-vdiers

ferdll FguTiier =Fasen H, Afg &z O 377 ToisT R I B9 § gret gidr Sl § 3R 372 arena
o el S dTel &5 9T S1fieT S gt Sd § 91 59 frafq = e s

(1y 7o gl (2) TR-HEEH

(3)  uror gEdA (4) Tgumomefa

U9A 9k IeeA SR S1URY H AMieR Jae 1Y Uiigied sAreRiul 1 9N kY T S g 7
fr=fafaa § 9 foros g/ v s 2

(1) =1 S5 (2)  HATMrSTCER
(3) iRt wrefesTH (4)  AHHLI

28 Al &1, TR Ui ST ] ashETd aar o fo7g S sl G STYE 7HE F8 el ©, e
EIGIES

(1) G g (2) 'mET g e
(3) TT TP (4)  SE19T [Aef7ar g

ATURAT (A) :  HIKI Isa o 9Isa) | &A1 2l ¢ |

ENINE T Yl el oIS ohi Hgifas AT ¢ i 9ged vee FHv =l ufean o7
T T TRl S T V] Bl SR A WA ¥ 81 oA S A |

ehd

(1) (A) K (R) 27T 5 €| 2)  (A) T E T (R) T B
(3) (A) T T, T (R) WE T (4)  (A) #iR (R) qrT o |

SR IeATEA Il RREl | B i ST S ATel g4 Wi i 91 YR e §, e ©

(1) =fegrit R R aryars o (2)  afEit EeEHR AT 99
(3) afeiHl YaHERA Sy a3 () S geATes aryaETe a3

ATk -1 o FATTERL0T H Teh |H & S AUURTEA Yaned] o 67 &, FMefaiEd § 9 A-91 ¢ 7
(1) ATt (2) Tored (3) e (4) T

s [N
TR (TR TR R e
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The svstem of reference vowels, traditionally represented as a quadrilateral, which defines
the periphery of the available ‘space’ for the articulation of vowels is known as :

(1)  Systemic Functional Linguistics  (2)  Visual Word form Arca

(3)  Cardinal Vowel Svstem (4)  Vocalization System

A term used lo describe consonants that occur at the border between two syllables and that
can be thought of as both the coda of the [irst one and the onset of the second one :

(1) Semisyllabic (2)  Ambisyllabic (3)  Disyllabic (4) Polysyllabic

The term used mn phonology to describe what happens when the distinction between two
phonemes is lost in a particular environment :

(1) Assimilation (2)  Disstmilation (3) Coalescence (4)  Neutralization

Vocal effect which extends over more than one sound segment in an utterance is called :

(1)  Segmental (2)  Intensional (3)  Supra scgmental (4)  Aspectual

[t | and [dz]| are the examples of :
(1)  Sandhi (2)  Haplology

(3) Pattern congruity (4)  Assimilation

If ome of the constituent words in a compound 1s the semantic and syntactic head, 1t 1s called
a(n)

(1)  exocentric compound (2)  endocentric compound

(3) copulative compound (4)  lexical reduplication

The forms www, URL, http and SCSI are examples of :
(1)  Acronyms formation (2)  Word blends

(3)  Alphabetic abbreviations (4) Clippings

In morphology, the process by which affixes combine with words to create noew words 1s
known as :

(1)  Inflection

(2)
DR :

Derivation (3)  DExtraposition  (4)  Assimilation
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13. Yoo T Yool 799 99 =9 | Tk t{fibChIUI ED -!:cw AJdﬂ TeR e ST %r I W= & TR %?[
Iuer=r xR ufify = ufturfug s © r:w:fllm

(1) =gaErd Tentdicaes o T (2) %9 Y ®Y &
(3) HM T guled] (4)  FEIRC guTTed!

14, e Yg, T5en] AN <1 &1l & == ol 9q1 9T 3THaTe] Sl sl Sooid i < fold faar = g 3R
T 98el 318R ok 31d SN THL 78 o URY Sl o &9 H o 5l §, Fead ¢

(1) 3Tg-31e (2) SqATE (3) fE-etemdd (4)  TE-se

[ LN

15. @8 T2 foreen yar Wiqatase § 98 29 o foru foha <ty 2 T 290 2ia) 2 STd Tohelt 819 araren] |
2 WE & == 1 S1de foe S € 2

- T

(1)  HHIHIA (2)  ToruHIweA (3) HfH (4)  TAfeoHE=RT

16. 8 S=HUNHE GHE S Ueh 3= H Teh © AT WH-Ta] 9T foeqiiid 21 =4l 8, el @

(1) wUskHS (2) =fyE ) ofvmErers (@) TaaE

17. ]| #ir | dz| feafafea 5 3 fras 3ame §72

(1) i (2)  HHIER &

(3) SAMT=AT st (4) HHIRIT

™

18, Hfe THHE! AT H U B2 Iee Hd- e AR aemia-=ard vy 21 a1 59 el Sl 2

(1) =geiie 99d (2) #a:hie® wa™

(3) %5 99 ™ (4)  vmfegs qABi
19. ®9 www, URL, hitp 3R SCSI =R o 9 Theh IS0 2 ?

(1) 9iefl wreal =1 (2) e HEW

(3) T (4) =hdid (Clippings)

20, ©Y IGIFII"I If =l SIEE) I\FEH"A}“ S d"IH*I EINISEE EFT élr—fl EFHTQT \FEIE”-H B IE-RCE ﬂ“llrl ’3’}“{:*:"”“”

T
(1) faafe cqfd (3) Teorfd 9ga (4)  HHETT

s | WHH H 7
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Match the items in the List-I with List-II and select the correct answer from the code given
below :

List-I List-II
(a)  Complex Noun Phrase Constraint (i) Constituency test
(b}  Substitution (ii)  Ross
(c) DBasc (111} Input to Deep Structure
(d)  Head Direction (vl TParamecter

@ (b)) [ |
O B O B ) B (A
(2) () ) () ()
@) @ ) () |
(4)  (w) () () |

Assertion (A) : The rapid and complex development of a childs grammatical compelence
can be explained by the hypothesis that they are born with an innate
knowledge of at least some of the universal structural principles of human
language.

Reason (R) : The innateness hypothesis contrasts with those approaches that view
language in purely behavioural terms.

Code :

(1)  Both (A) and (R) are correct.
(2)  (A) 1s correct, (R) 1s false,

(3)  (A) is false, (R) is correct.

(4)  Both (A) and (R) are [alse.

Which one of the following constructions displays endo-centricity ?
(1) The boy fell (2)  Sit on the table
(3)  Kick the ball (4)  The big house

Assertion (A) : Adjectives can occur in an attributive posilion and in a predicative position.

Reason (R) : Adjectives can be premodified by an intensifier, and can be used in a
comparative and superlative form.

Code :
(1)  Both {A) and (R) arc truc. (2)  (A)1s true, but (R) is falsc.
(3)  (A) is false, but (R) is true. (4)  Both (A) and (R) are false,

s [ IAIIRTN 8



wWww.prepp.in frepp

2l

22.

23.

24.

Your Personal Exams Guide

T - 1 H 9 HEl 1 EE - 1 H S HE 6 W gaferd Y S A for 2 § " wE e W =

Eag

Tl - T - 11
(a) STt | ISHH STy () O 9l (RIRZg 262)
(b) e Qi) ™
(¢) STER &Y (=9) (iti)  TEA HTEAT o ol 3 (392)
(d) ¥ feum (emeEm) (iv) 9T
he :
(@) (b) (c) (d)
(1) @ @) 3 (iv)
(2) ) () () (iv)
(3) ) () Gv) (1)
(4) (v) () () ()

AfURYT (A) : == I SAERLIA FYIE1 = gd ud Sifed faeni &1 38 Teheud] g1 3% fear 511
TRl § Toh o HI9el 4791 o o ¥ 1 $8 HEHIHa HLEAeHe g i s

SR o |1 91 &7d % |
eh (R) STASId TeRRed 39 §I2ZehiVN § ST Bl §, Sil |11 o Y5 ey &1 |
he :
(1) (A) 3R (R) THT ¥t € (2) (A) HEE, (R) T B
(3) (A) TR E, (R) TR R (4)  (A) S (R) I TTerd £ |

faeafefea O ¥ 9 o =1 sia-ewar yefdlg wwdt 27

(1) <= i/ / = 95 (2) HA WHSI / HiE HAA & o
(3) g 3= / T g1 S (4) SEIEL / A&l TeRT g

AfeReT (A) : T wfagios w1 iR fadm fefa 4 2 9emd €1
Tk (R) ferToml =h1 diierah I Je—SAea TR S Wadl &, SR geriedsh ua HAfaea ®9 |
ST foha S Hehdl € |

E&E
(1) (A) 3R (R) S TA T | (2) (A) ¥ T, 9= (R) faeam 7
(3) (A) 221 2, T (R) 974 B (4)  (A) T (R) T Tiean €|

osu ||| ) Paper1
T TR I W RETRE T e f
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Which of these sentences is an intransitive sentence 7
(1)  The man chased the dog.

2} The old man laughed.

(2)
(3} The tall and foolish man put the book on the table.
e

The man in the dark dress ate the apple in the garden.

In the sentence “The boy ran with the dog’, ‘with’ is :

(1)  Noun (2)  Pronoun (3} Verb (4)  Preposition

Which of the Fc.‘ﬂlom-'ing was not a type of transformation proposced in Standard Theory ?

(1)  Addition (2)  Suffixation (3)  Movement (4)  Substitution

The phrase "A Summer’s Day’ in Shakespeare’s verse “Shall T Compare Thee to a Summer's
Day” is a classic example of :

(1)  Denotation (2)  Connotation (31 Tromy (4) Satire

NMatch the following :

[ist-1 List-11
(a)  Aflfect/Elfect (1)  Gradable pairs
(b)  THot/Cold (1) Complementary pairs
(c)  Single/Married (iif)y Relational opposites
(d)  Teacher/Pupil (iv) Paronvm
Code :

@ (b)) (0 (d)

(c)
() (1) (v)
(v) () @) (i)
() v) ()
(i) () (@

Assertion (A) : Shreva has just flown to Delhi Presupposes Shreva has just gone to Delhi.

Reason (R) : Ram'’s sister has measles entails Ram has sister,
Code :
(1)  (A) is true, but (R) is false, (2)  (R) is true, but (A) is false.

(3)  Both are lrue. (4)  Both are false.

s [ IAIIRTN
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TAfaiEd § | 9] 919 37hHh J[4 g ?
(1) =™l = %<l &1 drel fmen / 31 37 =IsiE 31 81

(2) Tg AT g / & Hieg HF A6

(3) ol AR SE® e 7 GE & He W WE [/ T 20d U Biewl §9 92 € g 1A < 29 |

(4) =afea F9A Flel V1 & o5 98- 9 399 9F H ¥a TR / S 54 39 of 36k 8| U2 < THd 2
21 TTEA |

‘G g A g € 2N (SR e oh WY v - g A | T g ?
1) = (2) W (3) T (4)

frfafad O 9 =9 91 39 Y 1 Tual T8l © ord1 % ame fagra o veatad fean may a1 ?

-,

(1) e (2) WYUHET ANH (3) e (4) e

IR i 9ok Vi SR FEPR A 2w e e W ' a2 efaiEd B 3 et Sentas

(1) == (2) e (3) =t (4) =ATAHE
fr=fafaa =1 faem =L
T - 1 T - 11
(a) HRERZ /TR (i)  oft=RTofa 7y
(b) T/ (i) T g
(c) wifganfea/faerfea (i) Hra-Teas fasdt ua
O CIRE T A (iv) SH=ERE ¥
he :

(@)
) () |
2) (v) ()
) (M) (s
) ) o

AT (A) : I &= 92 Tl 2 faeell &1 A1ef € 99 &=l 512 71 2 Tooet |

% (R) : U9 g o B9 divted sdmar & T 18 2 fas
che :

@) (&) FFE, (R) T s Q) (R) T E (A) fae ¥
() T 9 € | (4) M1 fgea 3

osu ||| 1 Paper1
T TR I W RETRE T e f
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If borrowings tend to come from the more prestigious sections of the lexicon and their
connotations tend o be prestigious, the concerned language is said to belong to a

(1) Substratum (2)  Superstratum  (3)  Adstratum (4)  Dialect

A term that refers to the reverse linguistic history of a language on the basis of phonetic
variation between forms which are assumed to have had an invariant structure originally is
called -

(1)  Lexical diffusion (2)  Analogical change
(3)  Comparative method (4)  Internal reconstruction

Though sanskrit is an inflecting language, the modern Indo-Arvan languages are said to
have become agglutinating under the influence of :

(1) Tibeto-Burman (2)  Austro-Asiatic

(3)  Dravidian (4) Internal Developments

The English expression “World View” which owes its existence to Germanic "Weltanschauung’
is an example of :

(1)  Loan-blend (2)  Loan translation

(3)  Assimilated loan (4)  Unassimilated loan

Who proposed the principle that sound changes are conditioned entirely by phonelic factors
and sound laws admitted no exceptions ?

(1)  Neogrammarians (2)  Ferdinand de Saussure

(3) Edward Sapir (4)  Daniel Jones

Assertion (A) : A sound change takes place regularly only at a particular time and in a
particular speech community.
Reason (R) : A sound change is one that takes place mechanically which means 1t is not
& ¥,
because of psvchological motivation.

Code :
(1) (A) is true and (R) 15 falsc. (2)  (A) is false and (R) is truc.
(3)  (A) and (R) both are true, (4)  (A) and (R) both are false.

Which of the {following 1s a language isolate ?

(1)  Nagamese (2)  Nihali (3}  Khasi (4)  Bundelkhandi

st [N
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31.  9fq oM =l U AUalhd A4 Tfaftsd wee-vHg | f:9id 24 &1 81 91 376k T0el =hi Tahid
ff wfalted werR 1 &1 a1 daiea a7 =1 o SIS THET ST E
(1)  STEEqel 9T (2) SR Y (3) TTehzaet 91 (4) Sl

32, 9% UE W1 3H Bl & @4, 5 7ol ©9 9 srafiad = S 9 o 7, @i St ok s ot
T 2% Wfedr™ STt 2faerd = 3Td 3al €, Fean © ;

(1) is=eh Torae (2) WRTAeE 9
(3) oS fafy (4)  sTafiE gATed
33. 79l Ted s faufeaquys v g, U= o S § T & JUTE H YRE- 2T ey
PISEICEINA
(1)  Tassrdi-=t (2) STEI-UfEE
(3) Elds (4)  Afafte o

34, ST AT World View ' T U1 991 1 $1f9=afs  Weltanschauu ng,’ 4 form %,
a:"T \g“{ [N %_ |

(1) &g 7Y wsg (2) ST 3TAR
(3) UfEHelfeg o (4) sTufEHeifee o

35. T=faiEd 4 9 g 29 fagia =1 giaued o6 ¢ T @a-9iEdy quiaar Wi sRehl § gHTiod
B ¥ aen T fagia ot swe sTvae T8 § 2

(1)  TeAeATH (2) THiEdE T 9ET
(3) UEArE "Il (4) Sf1ae Sy
36. ATYHYT (A) : THA-UREdA AT €9 § 7k @i 99 1 SR & |9r- e 98 g |5
Hfed AT T |
Tk (R) : E-uRER a8 qRadd § |1 A ' | wled g fSwew Alqum § 9w

HATCIReR UX0N § =fed T8l 2 2 |

A
1) (A) T 3R (R) T B 25 AT SR
(3)  (A) ¥R (R) 1 W2 & (4)  (A) AR (R) T T 2

37. To=fafaa 5 O =9 TRl 9o (e7Es sTEEee) § 7
(1) AT (2) Tl (3) STl ()  TeaEUel

s [N
TR (TR TR I L Il
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Which of the following statements is correct ?

(1) The SVO languages are structurally different from the SOV and VSO languages taken
together.

(2)  The SOV languages are structurally different from the SVO and V50 languages taken
together.

(3)  The VSO languages are structurally different from the SVO and SOV languages taken
together.

(4)  All languages with the SVO, SOV and VSO word orders are structurally similar.

If the structural similarities among, languages are laken as part of an attempt to make a
classification of languages, 1t is called

(1)  Typology (2)  Reconstruction (3) Etvmology (4)  Analogy

Assertion (A) : A language with the SVO word order 1s clearly prefixing,
Reason (R) : Though English has the SVO order, it is predominantly suffixing,.
Code :

(1)  Both (A) and (R) are incorrect.

(2)  Both (A) and (R) are correct.

(3} (A) is correct and (R} is incorrect.

(4)  (A) is incorrect and {R) is correct,

Borrowed words arc usually remodelled to it the phonological and morphological structure
of the borrowing language. The process 1s called -

[~

(1)  Receipient language (2)  Donor languagge

(3)  Adaptation (4) Loan words

A hvpothesis which was emerged from the open criticism toward BETTAVIORISM and
particularly the Contrastive Analysis Hypothesis (CAH) on SLA in the 1970 1s ¢

(1)  Error Analvsis (2)  Creative Construction Hypothesis

(3)  Acquisition Learning Hypothesis (4)  Krashen's Hypothesis

vasn [ | IRIRLA
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frfefigd § 9 -9 99 9at ¢ 7

(1)  SVO 4T HEEA 3 STHR W SOV 3R VSO 9roiet | 37e § |

(2) SOV 4T TLEAT & STHR T SVO 3R VSO rorsti o 37er 3 |

(3) VSO YT HTEAT 3 SHH T SVO 2R SOV 9rist 4 a7 £

(4) SV, SOV IR VSO g 367 dTell |t I8 H3=-] & 39N W TFH TAF 2 |

Tfe vre] oF &= sl ECaeHs THET 31 GrarsT] 1 Sty S < 9aTd o ZEq <k B9 § Tora
STl 8, a3 Fal Il T |

(1)  9&gieEE (2)  gAHTEA (3) Uil (4) HEYE

AFYRTT (A) :  SVO Vg HaeT arell aI] TI52d: ITT U9 Bl ¢

Ten (R) TG TS SVO 5~ Faee]] alel] U9 €, 98 99 B9 9 Toqd & 976 ¢ |
he @

(1) (A) 3R (R) S TTeTd § | (2)  (A) ¥R (R) TFI &l & |

(3) (A) T T SR (R) T € | (4)  (A) 7T 2 IR (R) WL ©

STTA YIe2] =h] STHT=E: T&iRiu 4oy =1 wafafas o s uragss 91991 & 9 &y fea1 £ 92 gl
FECT ©

(1)  TEUThHl 9o (2) T T
(3)  wFEeH (4) AT vsg

ad 1970 H, =eagra it favvey o9 ua € o Hay o faug faverr yeererr & ar o gel
ST H Ueh Qlechedq 37feded § 372 | 39 YieehedH] okl gd 2

(1) 3 Tagerom (2)  WsiATeHs T grernedHl

s | [N RIATTNN
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Match the List-I with List-II and select the correct answer from the following code :
List-I List-1I
1)  Robert Lado

i)  Noam Chomsky

a) Inter Language Hypothesis
by  Monitor Model
¢)  Language Acquisition Device i) Larry Selinker

d)  Contrastive Analysis iv)  Stephen Krashen

Code

(@) (b) (¢} (d)
(1) (i) @v) (1) ()
(2) () @y @) (v
(3) () @) (dv) ()
(4) (i) @v) (@) ()

Match List-I with List-II and select the correct response from the code given below :

List-I List-II

(a)  Faithful translation (i) It reproduces the matter without the content or the
form of original.

(b)  Semantlic translation (ii)  Freest form of translation used mainly for plays and
poctry.

(c)  Adaptation (i) Tt takes more account of the acsthetic value.

(d)  Free translation (iv) Reproduces the precise contextual meaning of the
original.

Code

@ (b)) ([ |
1) (@ G
(2)  (v) (ui) (1) (i)
@) () G @ |
(4) () (ui) () o

Assertion (A) : Chomsky emphasized the aclive contribution of the child and
de-emphasized the role of habil-formation.

Reason (R) : e attributed the child with the Innate language learning capacity which is
unique and different from general cognitive mechanism.

Code :

(1) Both (A) and (R) are correct. (2)  (A) is correct, but (R) is false.

(3} (A) is false, but (R) is correct. (4)  Both (A) and (R) are false,

s [ IAIIRTN
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43. T - 1 ] G - 11 o |19 GHTerd i 37 9 {60 70 2 %1 G40 i gU Tar S k1 =99 &
gl - 1 g - 11
(a)  FATT- Y7o WIFh o] (i)  TEL el
(b) G fAed (i) 9 =R
(c) T 3TSH qHary (i) o Hfer=
(d) fawm faversm (iv) TEIRT M
E =3
(@) (b) () (d)
(1) (i) Gv) () 0
(2) ) () @) (v)
() (i) @) (v) (@)
(4) () (v) @ (1)
44. Tl - 1 o1 Gl - 11 o 919 YAl w37 A= 76U T F2 61 YN w0 g0 Tal S ] =g i
A - 1 =il - 11
(a) TIveEHAM 31gee ()  ZTHH 99" %l el < I8 799 &9 <k FiK A €9 H TR
(by  spdfamEe S1iamE (il)  ATeNE W HANF GH EY (FTHER] YAN H&AT: Ah]
SR 9 ok Toru foran s 2 |
(c) e oM (iif) TEH WA = G S W S
(d) GF FER (iv) 9H HE o1 |k ward wegd A S
che :
(@) (b)) (o (d)
(1) @ ) 3 (iv)
(2)  (v) () ) (1)
@) (i) @) @ (i)
(4) QOv) (@) G (1
45. AURAT (A) 1  FHER] A &= & Wihd AR T o T2 o q°1 $red- {010 ki ek < g4
1 TRR] 9T |
TR (R) : SRI o= H SAasia W] ST a1 99 o o S W 9aeies 9 9
fafyrsz $iR e 2|
<hd :
(1) (A) 3R (®) RIS (2) (A) HEl 2, WA (R) oW B
(3) (A) 7o 2, 9 (R) WEI € (4)  (A) FR(R) ST Terd 2 |
~anns || [N 1 Faper
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Culturally sensitive view of literacy practices as they vary from one context to another is
known as :

(1) Autonomous model of literacy  (2)  Ideological model of literacy

(3)  The new literacy (4)  Computer literacy

Anapproach to language teaching in which the computer is used as an aid to the presentation,
reinforcement and assessment of material to be taught is known as :
(90 SN fer & LD G faald 4y CELL

Assertion (A) : In Pidgins and Creoles, the vocabulary is usually traceable to a single
language, always the language of the dominant group involved in the

contact.
Reason (R) : The grammatical structure generally can not be traced to any single language.
Code :
(1) Both (A) and (R) are true. (2)  (A) is true, but (R) 15 false.
(3)  (A) is lalse, but (R) 1s true, (4)  Both (A) and (R) are (alse.

Variationist sociolinguistics, which is strongly assoctated with William Labov 1s based on the
premise that :

(1) Language reflects identily. (2)  Language reflects nationalily.
(3)  Language reflects ideology. (4)  None of the above

Match List-I with List-II and sclect the correct response from the code eiven below
i

[ist-1 Iist-11
(a) Language shift (1)  Tends to be more standardized
(b}  Terminal stages of (i)  H wvaricty replaces the 1. variety
diglossia
(c) Language maintenance (iif)y L variely replaces the I variety
(d) I variety (iv)  No change in language use

a) (b)
i (i) (
vy () (i)
0 ) (
Wy (i) (

-0 o-

s [ IAIIRTN
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46. T I i WEHTTS €9 W EAHS Hhe Tl o Uk Hed 3 g8 Hey H ofo 2l 8, o
=

nol
(1) T4 1 T ey (2)  EEEE & Sgifaw gl
(3) 7T W& (4) TR HARE]

L) .

47. T 18107 R 9% SUAH FS9H P o YAR 9K SHaTell 90 |l oF TR, Yo 3R
STRET &0 TEFIh & ©9 U (51 S &, Fgandl § :
AT (2) CALT @ Akl 4 CELL

48. AUHmYT (A) : A IR TohaTal H HHIE: YeaTae] Ushdl 791, SHN |¥eh a1l Jofel T 945
T 1 9 T S 2

KED (R) : AT SR T0Teh T o] T T qgﬁr & S S
% e

vy

(3) (A) TTed &, 9% (R) HEI 2 | (4)  (A) IR (R) ST 7o 2

49. I A - 9IEEE 9 QR §9 H fGfaa o6 & WY 531 8, 98 efatad § ¥ g
STHR-AT3 T 371 § 7
(1) TS Je= ) 9Rafed &3l €1 (2) 9T UsEraal ol afterfiad s
(3) TV THERHEN ol YA &l &1 (4)  STEH W hE ol

50. Tl - 1 o] FE - 11 o6 |1 gHiord i SR 4 (60 70 32 %1 J40 i gU Ter S Rl =99 &

Tl - 1 T - 11
(a) T 9 (i)  STYeTTRd IfYes ek 2 i Y 2l 2 |
(by Teumrefud & swafimr =07 (i) [ SRR LS i gfaenfud w3 §
(c)  YTOT STLETT (itf) L ol H sl =i gfqeariud il T
(d) H S (iv) TS 9T hig 9ieed =2l 31§ |
<hd

(a) (b)) (c) (d)
(1) (@) () (i) (iv)
(2)  (w) o () (1) ()
(3)y (i) (i) (v) (D)
(4) (i) (@) @ (i)

-0 o-
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